18
(1)110=6EH=01101110B  (2)1039=40FH =010000001111B
(3)0.75D=0.11B=0.CH (4)0.15625D=0.00101000B=0.28H
2
(1)129 (0001 0010 1001)scp

B EFEANLC YRR+ BCD A3 N REA 16 HERIEGR R, U 129H
(2)5678 (0101 0110 0111 1000) scp
(3)0.984  (0.1001 1000 0100) scp
(4)93.745 (1001 0011.011101000101) gcp
3
(1) 10101010B=0AAH=170D (2)10000000B=80H=128D
(3) 11000011.01B=0C3.4H=195.25D (4) 01111110B=7EH=126D
4 /5
(1)8E6H=100011100110B=2278 (2)0A42H=101001000010B=2626
(3)7E.C5H=01111110.11000101B=126.769
(4)0F19.1DH=111100011001.00011101B=3865.11328
5 &l
(1)1011011.101B=91.625D BCD & (10010001.011000100101) gcp
(2)1010110.001B=86.125D BCD A (10000110.000100100101) scp
6 il
(0010 0111 0011) gcp  Fon-HiEHIECH 273 — %N 1000100018
(1001 0111.0010 0101) gcp o n-Hidthil%Chy 97.25 %’y 01100001.01B
78

) O] ®) (4)
1001.11B 1101.01B 1000.011B 1111B
+ 11.11B -0110.11B - 1001.101B -1101B
1101.10B 0110.10B 0110.110B 0010B
8 il
6AH AB1FH 12ADH 117H
+ A6H +0EFCH - 01DEH - 0OABH
110H BA1BH 10CFH 06 CH
9 it

(LR SH  X=01H=01D Y=0FFH=255

)FF 5% X=01H =01D  Y=0FFH=-1

T TR AR R 5 BOL 2 TR 5 B R e o 2 R 5080 S bm 1) i SR sE 1Y,
—HETR, EEFPRAARIES KX S SHEMNTLHT H, NEHEFRSSEG/ S
BAMTEFFTHERS.

10,785

(1)101+31H+69H+0D5H+(5*8+7)=531
(2)127.8125+189.625+253.9768+502.5390=1079.77344

11 /8

‘AN —Z< ASCI % Ny 41H—5AH 48454CACA4FH



‘@---27 ASCI Y N 61H---TAH  (2) ‘A8 4138H

12 /i

(1) ‘E> ASCH fi% Jy45H  01001001B A & A7 HA 1
FreABRe D7 M 1, A OC5H;  #FfkH: D7 4 0, A 45H

(2) ‘6> ASCI fi5 4y 36H  00110110B A & AfHEA 1
FTLMERS: D7 A 0, A 36H: AR D751, 2y 0B6H
13 /i
-38=[10100110B]#=[11011001B] =[11011010B]: 8 fif
-38=[1000000000100110B]%=[1111111111011001B]x = [1111111111011010B]

125=[01111101B]%=[01111101B]x = [01111101B]; 8 fr
125=[0000000001111101B]:=[0000000001111101B]; = [0000000001111101B]

-128= [10000000B];; 814 JREAIRAGAHEH 8 (RN
-128=[1000000010000000B]>=[1111111101111111B]x =[1111111110000000B]::

14 @t
+0=[00000000B] x=[00000000B]x = [00000000B]; 8 fir
= 8 frth 0 4 16 fiL

-0=[10000000B]%=[11111111B]x = [00000000B]» 8 fi.
-0=[1000000000000000B]%=[1111111111111111B]x = [0000000000000000B]

15 /&
(1)[X]#=81H =[111111111]%=[10000000] %  FL{E H-127
(2)[X]+=800H=[1000100000000000B]x=[1111011111111111B]x ~ Eff N-21
(3)[X]»=79H=[01111001B] »=[01111001B]x EfH A 121
(4)[X]#=0FFFEH=[1000000000000010] 5= [1111111111111101] )%

16 /@

(1) [X]+=1000 0000 0000 0000B E.{E# -8000H=-32768
(2) [X]#=1111 1111 1111 1111B  Efl N -1

(3) [X]#=0111 1111 1111 1111B  EAH AN 7FFFH=32767

(4) [X]+=0101 0101 0101 0101B Ef{H N 5555H=21845

17 @i

J A Sty A

16 iz

16 fir

16 fir

16 iz

(-1) (-127) (-1) (-127) (-1) (-128)

8 fii f1%% 10000001B-11111111B 11111110B-1000000B 11111111B-1000000B
(+1) (+127) (+1) (+127) (+1) (+127)

8 fi7 IE%t 00000001B-01111111B 01111111B-00000000B  00000000B-01111111B
[+0] =000000000B [+0] ~=00000000B [+0] #=00000000B
[-0] ¥=100000000B [-0] x=11111111B [-0] 4=00000000B



N BLEiEE —(N1-1)-——+(2NL-1) —(2VA1)-- 4 (2N-1)

18 il

(1) A
(2) A
(3) ¥
(4) A
19 i

(1) 27+11
00100111B

+00010001B

001010008

20 /&

)

45709 15 R 8 fr MY

Z5 R 09-55 A 8 Az AN
SR N-132 M 8 A AMIB TG

45 R 0N-125 R 8 S MY

(2) 37+29
00110111B
+00101001 B
011000008
+00000110B
01100110B

17.5=00010001.1B #{yiftF7x 0.100011x2°
¥ RS 0 0101 0 100011B S AN JE RS A [F]

()

-75.5=-01001011.1B

J5iA% 0 0111 1 100101 B Mg 001111011011 B

a7 -0.100101x 27 (4 i I PG 7)

V-2V



